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PROVA VO2 TEST INGLESE

E' RICHIESTA UNA SOLA RISPOSTA PER OGNI DOMANDA. LE 3 OPZIONI PROPOSTE
SONO TUTTE PRECEDUTE DA UN CODICE ALFANUMERICO DI 3 LETTERE E DA UN
TRATTINO (-). TEMPO A DISPOSIZIONE: 20 minuti

4. Choose the correct sentence using a conditional structure: *
Contrassegna solo un ovale.

BSVD - If she had studied more, she would have passed the exam
CWCW - If she would have studied more, she would pass the exam

DKWP - If she studied more, she has passed the exam
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5. Select the grammatically correct sentence: *

Contrassegna solo un ovale.

UBUQ - | wish | were taller
PULL - | wish | was taller

DDIl - | wish | am taller

6. Identify the correct sentence using a phrasal verb *

Contrassegna solo un ovale.

ALGQ - She came up with a brilliant idea
ZZHQ - She came up to a brilliant idea

AHRP - She came under a brilliant idea

7. Choose the sentence with correct word order: *

Contrassegna solo un ovale.

FSFV - Never have | seen such a breathtaking view
NSGF - Never | have seen such a breathtaking view

CDLW - I never have seen such a breathtaking view

8. Which sentence uses the future perfect correctly *

Contrassegna solo un ovale.

KEKR - By 2030, humans will have developed more advanced Al
VYQB - By 2030, humans will develop more advanced Al

HEPP - By 2030, humans have developed more advanced Al
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9. Read the passage and answer the questions: "The rise of remote work ~ *
has transformed the corporate world. Many companies have adopted
hybrid models, allowing employees to work both from home and the
office. While some believe this improves productivity and job
satisfaction, others argue that in-person collaboration remains
essential.

What is one advantage of remote work, according to the passage?

Contrassegna solo un ovale.

QAXD - It improves productivity and job satisfaction
SNWI - It eliminates the need for meetings

AOMJ - It forces employees to work longer hours

10. Read the passage and answer the questions: "The rise of remote work  *
has transformed the corporate world. Many companies have adopted
hybrid models, allowing employees to work both from home and the
office. While some believe this improves productivity and job
satisfaction, others argue that in-person collaboration remains
essential” What is the meaning of "hybrid models” in the passage?

Contrassegna solo un ovale.

LEFZ - A mix of remote and in-office work
UHUL - A system where everyone works remotely

GSJIM - A model based only on traditional office work
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11. Read the passage and answer the questions: "The rise of remote work *
has transformed the corporate world. Many companies have adopted
hybrid models, allowing employees to work both from home and the
office. While some believe this improves productivity and job
satisfaction, others argue that in-person collaboration remains
essential’ The passage suggests that some people think in-person
collaboration is

Contrassegna solo un ovale.

BBAO - Still important for companies
EECL - No longer necessary

GZHQ - Only useful for remote workers

12.  Read the passage and answer the questions: "The rise of remote work *
has transformed the corporate world. Many companies have adopted
hybrid models, allowing employees to work both from home and the
office. While some believe this improves productivity and job
satisfaction, others argue that in-person collaboration remains
essential’ What is the author's overall tone?

Contrassegna solo un ovale.

YPBJ - Neutral and informative
NVBD - Strongly against remote work

HINJ - Completely dismissive of in-person collaboration
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13.  Read the passage and answer the questions: "The rise of remote work *
has transformed the corporate world. Many companies have adopted
hybrid models, allowing employees to work both from home and the
office. While some believe this improves productivity and job
satisfaction, others argue that in-person collaboration remains
essential” Which word could best replace "adopted’ in the passage?

Contrassegna solo un ovale.
NSBJ - Implemented

FVDM - Refused

KPSQ - Eliminated

14.  What does "cloud computing’ refer to? *

Contrassegna solo un ovale.

ADKF - The delivery of computing services over the internet
SFHK - Storing data on personal hard drives only

WEOL - A type of weather forecasting software

15. A key aspect of improving cybersecurity measures is protecting *
sensitive information from attacks.

Contrassegna solo un ovale.

VFIR - External
YSWH - Internal

KDJL - Visualized
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16.  Which of the following sentences has the same meaning as 'The new  *
policy has led to increased productivity in the workplace™

Contrassegna solo un ovale.

VCQD - The new policy has resulted in higher productivity at work

YACB - Since the implementation of the new policy, productivity has
remained the same

TGWF - The new policy has decreased productivity in the workplace

17.  What does the acronym "Al" stand for in technology? *

Contrassegna solo un ovale.

MNEU - Artificial Intelligence
WEMD - Automated Internet

TFCI - Advanced Interface

18.  While renewable energy sources are being increasingly adopted, the  *
relionce on fossil fuels and the resulting in

greenhouse gas emissions remain major challenges.?

Contrassegna solo un ovale.

CBST - continued / increase
NZAH - continuation / increasing

OAFP - continued | decrease

19. Choose the most appropriate synonym for "meticulous”: *

Contrassegna solo un ovale.

NEMT - Careful
LNHX - Distracted

RMGU - Thoughtless
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20. Select the correct option to complete the sentence:

She insisted that he the contract before making a decision

Contrassegna solo un ovale.

JTWB - read
TYOH - reads

WAWX - will read

21. Select the correct preposition: *

He is known his generosity.

Contrassegna solo un ovale.

GTER - for
CQZV - on

TVFQ - at

22. Choose the correct form of the adjective: *
Of the three, she is by far the

Contrassegna solo un ovale.

ITZJ - most talented
JMIT - more talented

TSGK - talentedest
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23. |dentify the correct collocation: *
The company is a new policy to improve efficiency

Contrassegna solo un ovale.

XYUA - implementing
UQTP - making

QNQX - installing
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